

OFFICIAL RESULTS
City and County of Broomfield, Colorado
General Election November 7, 2006
7 Vote Centers, 1 Early, 1 Absentee and 1 Provisional

Date:11/20/06
Time:08:25:14
Page:1 of 8

Registered Voters 26829 - Cards Cast 18795 70.05%

Num. Report Precinct 10 - Num. Reporting 10 100.00%

		Total	
US CONGRESS D2			
Number of Precincts		10	
Precincts Reporting		10	100.0 %
Times Counted		18795/26829	70.1 %
Total Votes		18359	
Udall	Dem	10996	59.89%
Mancuso	Rep	6828	37.19%
Olsen	Lib	387	2.11%
Calhoun	Gm	148	0.81%

		Total	
GOVERNOR			
Number of Precincts		10	
Precincts Reporting		10	100.0 %
Times Counted		18795/26829	70.1 %
Total Votes		18561	
Beauprez	Rep	7544	40.64%
Ritter	Dem	10517	56.66%
Harkins	AC	99	0.53%
Winkler	Lib	262	1.41%
Fiorino	UN	109	0.59%
Write-in Votes		30	0.16%

		Total	
SEC OF STATE			
Number of Precincts		10	
Precincts Reporting		10	100.0 %
Times Counted		18795/26829	70.1 %
Total Votes		18003	
Gordon	Dem	8653	48.06%
Coffman	Rep	9350	51.94%

		Total	
STATE TREASURER			
Number of Precincts		10	
Precincts Reporting		10	100.0 %
Times Counted		18795/26829	70.1 %
Total Votes		17703	
Hillman	Rep	8708	49.19%
Kennedy	Dem	8995	50.81%

		Total	
ATTY GEN			
Number of Precincts		10	
Precincts Reporting		10	100.0 %
Times Counted		18795/26829	70.1 %
Total Votes		17741	
O'Brien	Dem	7675	43.26%
Suthers	Rep	9342	52.66%
Harding	Lib	724	4.08%

OFFICIAL RESULTS
City and County of Broomfield, Colorado
General Election November 7, 2006
7 Vote Centers, 1 Early, 1 Absentee and 1 Provisional

Date:11/20/06
Time:08:25:14
Page:2 of 8

Registered Voters 26829 - Cards Cast 18795 70.05%

Num. Report Precinct 10 - Num. Reporting 10 100.00%

		Total	
Number of Precincts		10	
Precincts Reporting		10	100.0 %
Times Counted		18795/26829	70.1 %
Total Votes		12755	
Hudak	Dem	12755	100.00%

		Total	
Number of Precincts		10	
Precincts Reporting		10	100.0 %
Times Counted		18795/26829	70.1 %
Total Votes		16963	
Ludwig	Dem	7376	43.48%
Davidson	Rep	7611	44.87%
Ong	Lib	610	3.60%
Campbell	AC	571	3.37%
McCarty	UN	795	4.69%

		Total	
Number of Precincts		10	
Precincts Reporting		10	100.0 %
Times Counted		18795/26829	70.1 %
Total Votes		18141	
Primavera	Dem	8924	49.19%
Berens	Rep	9217	50.81%

		Total	
Number of Precincts		10	
Precincts Reporting		10	100.0 %
Times Counted		524/803	65.3 %
Total Votes		395	
Christopher		146	36.96%
Barry		249	63.04%

		Total	
Number of Precincts		10	
Precincts Reporting		10	100.0 %
Times Counted		361/692	52.2 %
Total Votes		252	
Pulliam		252	100.00%

OFFICIAL RESULTS
City and County of Broomfield, Colorado
General Election November 7, 2006
7 Vote Centers, 1 Early, 1 Absentee and 1 Provisional

Date:11/20/06
Time:08:25:14
Page:3 of 8

Registered Voters 26829 - Cards Cast 18795 70.05%

Num. Report Precinct 10 - Num. Reporting 10 100.00%

Judge Carparelli		Total	
Number of Precincts		10	
Precincts Reporting		10	100.0 %
Times Counted		18795/26829	70.1 %
Total Votes		14626	
YES		10570	72.27%
NO		4056	27.73%

Judge Davidson		Total	
Number of Precincts		10	
Precincts Reporting		10	100.0 %
Times Counted		18795/26829	70.1 %
Total Votes		14557	
YES		10349	71.09%
NO		4208	28.91%

Judge Loeb		Total	
Number of Precincts		10	
Precincts Reporting		10	100.0 %
Times Counted		18795/26829	70.1 %
Total Votes		14477	
YES		9913	68.47%
NO		4564	31.53%

Judge Marquez		Total	
Number of Precincts		10	
Precincts Reporting		10	100.0 %
Times Counted		18795/26829	70.1 %
Total Votes		14551	
YES		9309	63.97%
NO		5242	36.03%

Judge Russel		Total	
Number of Precincts		10	
Precincts Reporting		10	100.0 %
Times Counted		18795/26829	70.1 %
Total Votes		14461	
YES		10402	71.93%
NO		4059	28.07%

OFFICIAL RESULTS
City and County of Broomfield, Colorado
General Election November 7, 2006
7 Vote Centers, 1 Early, 1 Absentee and 1 Provisional

Date:11/20/06
Time:08:25:14
Page:4 of 8

Registered Voters 26829 - Cards Cast 18795 70.05%

Num. Report Precinct 10 - Num. Reporting 10 100.00%

Judge Melonakis		Total	
Number of Precincts		10	
Precincts Reporting		10	100.0 %
Times Counted		18795/26829	70.1 %
Total Votes		14496	
YES		10571	72.92%
NO		3925	27.08%

Judge Moss		Total	
Number of Precincts		10	
Precincts Reporting		10	100.0 %
Times Counted		18795/26829	70.1 %
Total Votes		14410	
YES		10364	71.92%
NO		4046	28.08%

Amend 38 Petitions		Total	
Number of Precincts		10	
Precincts Reporting		10	100.0 %
Times Counted		18795/26829	70.1 %
Total Votes		17692	
YES		5851	33.07%
NO		11841	66.93%

Amend 39 School Spending		Total	
Number of Precincts		10	
Precincts Reporting		10	100.0 %
Times Counted		18795/26829	70.1 %
Total Votes		18184	
YES		7238	39.80%
NO		10946	60.20%

Amend 40 Term Limit		Total	
Number of Precincts		10	
Precincts Reporting		10	100.0 %
Times Counted		18795/26829	70.1 %
Total Votes		18069	
YES		8057	44.59%
NO		10012	55.41%

OFFICIAL RESULTS
City and County of Broomfield, Colorado
General Election November 7, 2006
7 Vote Centers, 1 Early, 1 Absentee and 1 Provisional

Date:11/20/06
Time:08:25:14
Page:5 of 8

Registered Voters 26829 - Cards Cast 18795 70.05%

Num. Report Precinct 10 - Num. Reporting 10 100.00%

Amend 41 Standards Conduct		Total	
Number of Precincts		10	
Precincts Reporting		10	100.0 %
Times Counted		18795/26829	70.1 %
Total Votes		17964	
YES		11448	63.73%
NO		6516	36.27%

Amend 42 Min Wage		Total	
Number of Precincts		10	
Precincts Reporting		10	100.0 %
Times Counted		18795/26829	70.1 %
Total Votes		18478	
YES		9926	53.72%
NO		8552	46.28%

Amend 43 Marriage		Total	
Number of Precincts		10	
Precincts Reporting		10	100.0 %
Times Counted		18795/26829	70.1 %
Total Votes		18542	
YES		9723	52.44%
NO		8819	47.56%

Amend 44 Marihuana		Total	
Number of Precincts		10	
Precincts Reporting		10	100.0 %
Times Counted		18795/26829	70.1 %
Total Votes		18571	
YES		7338	39.51%
NO		11233	60.49%

Ref E Vet Property Tax		Total	
Number of Precincts		10	
Precincts Reporting		10	100.0 %
Times Counted		18795/26829	70.1 %
Total Votes		18097	
YES		14916	82.42%
NO		3181	17.58%

OFFICIAL RESULTS
City and County of Broomfield, Colorado
General Election November 7, 2006
7 Vote Centers, 1 Early, 1 Absentee and 1 Provisional

Date:11/20/06
Time:08:25:15
Page:6 of 8

Registered Voters 26829 - Cards Cast 18795 70.05%

Num. Report Precinct 10 - Num. Reporting 10 100.00%

Ref F Recall		Total	
Number of Precincts		10	
Precincts Reporting		10	100.0 %
Times Counted		18795/26829	70.1 %
Total Votes		16804	
YES		7464	44.42%
NO		9340	55.58%

Ref G Obsolete Con		Total	
Number of Precincts		10	
Precincts Reporting		10	100.0 %
Times Counted		18795/26829	70.1 %
Total Votes		17244	
YES		13835	80.23%
NO		3409	19.77%

Ref H Business Tax		Total	
Number of Precincts		10	
Precincts Reporting		10	100.0 %
Times Counted		18795/26829	70.1 %
Total Votes		17634	
YES		9888	56.07%
NO		7746	43.93%

Ref I		Total	
Number of Precincts		10	
Precincts Reporting		10	100.0 %
Times Counted		18795/26829	70.1 %
Total Votes		18413	
YES		9446	51.30%
NO		8967	48.70%

Ref J		Total	
Number of Precincts		10	
Precincts Reporting		10	100.0 %
Times Counted		18795/26829	70.1 %
Total Votes		17950	
YES		7781	43.35%
NO		10169	56.65%

OFFICIAL RESULTS
City and County of Broomfield, Colorado
General Election November 7, 2006
7 Vote Centers, 1 Early, 1 Absentee and 1 Provisional

Date:11/20/06
Time:08:25:15
Page:7 of 8

Registered Voters 26829 - Cards Cast 18795 70.05%

Num. Report Precinct 10 - Num. Reporting 10 100.00%

Ref K		Total	
Number of Precincts		10	
Precincts Reporting		10	100.0 %
Times Counted		18795/26829	70.1 %
Total Votes		17854	
YES		10284	57.60%
NO		7570	42.40%

Broomfield 1A Open Space		Total	
Number of Precincts		10	
Precincts Reporting		10	100.0 %
Times Counted		18795/26829	70.1 %
Total Votes		17873	
YES		15891	88.91%
NO		1982	11.09%

BVSD 3A		Total	
Number of Precincts		10	
Precincts Reporting		10	100.0 %
Times Counted		9560/13133	72.8 %
Total Votes		9060	
YES		4828	53.29%
NO		4232	46.71%

WELD RE8 SCHOOL 3A		Total	
Number of Precincts		10	
Precincts Reporting		10	100.0 %
Times Counted		3/7	42.9 %
Total Votes		3	
YES		2	66.67%
NO		1	33.33%

WELD RE8 SCHOOL 3B		Total	
Number of Precincts		10	
Precincts Reporting		10	100.0 %
Times Counted		3/7	42.9 %
Total Votes		3	
YES		2	66.67%
NO		1	33.33%

OFFICIAL RESULTS

City and County of Broomfield, Colorado

General Election November 7, 2006

7 Vote Centers, 1 Early, 1 Absentee and 1 Provisional

Date:11/20/06

Time:08:25:15

Page:8 of 8

Registered Voters 26829 - Cards Cast 18795 70.05%

Num. Report Precinct 10 - Num. Reporting 10 100.00%

WELD RE8 SCHOOL 3C

	Total	
Number of Precincts	10	
Precincts Reporting	10	100.0 %
Times Counted	3/7	42.9 %
Total Votes	3	
YES	2	66.67%
NO	1	33.33%